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3000000 XO000O0O0OO ADODOoO,
det( Az — X) = N — X261 (X) + Ao (X) — ¢3(X)

0000,00 ¢,(X),j=1,2,30000.000,det 000000000000, I350
300000000.000000000.

(i) D0Oooooo.
3
¢1(X) = tr(X), ¢2(X):Zdet(X(kk)), ¢3(X) = det X
k=1
000, 00000000000, X%W 000 X00:00 0000000

godo2000000000000.

(i) 3000000 ADDOOOO a,beceR*O0000,A=(a,bec)000000.
0000, X =ATA000, ¢;(ATA), j=1,2,300000 a,b,c000, 00,
000000000000. 000,AT0 ADODOOOOOO. OO0, z,y € R3
000,0000000 z-y,exy000,200000 |z|=vz-z000.

(i) i) 0 ADDD,00000000000.
[det A| < [|la]/ [|b]| ]|

gbo,0bgobobbooboobgaobg.



